D1vISION WITH A REMAINDER II (H - SET 3)
DIVISION WITH A REMAINDER

Name:

Time:

Score:

) 23735 + (—=3) =
2 —1489 + (—=2) =
3 —10901 + 2 =
40 45938 + (=5) =
15 3347 + 1 =

516) 61370 =7 =

1) —59186 + (—8) =
9 11636 + (—4) =
5190 —1661 +6 =

w0 1183 + (=9) =
1) —H6843 +~ 7 =
52)  —46223 -6 =
553) 16580 + 6 =

) 11463 + (—9) =

555) 53T + 2 =

Mathematics: Division - Level 8 - Horizontal - Set 3
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68013 =+ (—9)
34245 + (=5)
4194 =1 =

34791 = (—4)

25950 < 9 =
—10643 + 3 =
19562 + (—4)

15018 =5 =

17959 =2 =

17660 = (—4)
—78759 + 8 =
—8103 = (—1)
11813 + (—3)
31451 + (—4)

—10940 + 2 =
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